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Read the given
! passage caref
questions that followg: (éﬁ\llcljl.lg;?odi)r)‘swer the

diSﬁnThithéel?t .Indlan Bustard can easily be
= lgu ed by its black crown contrasting with
anlzla tG131 neck and forehead. The body is brownish
e wings are marked with black, brown and
lgre_ty. Males and Females generally grow to same
height and weight but males-have larger black
band across the breast. They breed mos&y during
the monsoon season when females lay a single eg
on open ground. Males have a gular ponich, whicl{i
helps prod_uce a_resonant booming mating call to
attract females and can be heard up to a distance
- of 500 metres. Males play no;tole in incubation
and care of the young which remain with the

mother till the breeding season: These birds are
feed on food availability

W They

such as grass seeds, insects like grasshoppers and

beetles, and sometimes even small rodents and
reptiles. Amongst the numerous issues that
threaten its conservation are poaching outside
‘Protected Areas’, collisions with high tension
clectric wires, fast moving vehicles and free-ranging
dogs in villages. Other threats include habitat loss
and alteration as a result of widespread agricultural
expansion and machine farming, mining and
industrialization. Today, its population is mostly
confined to Rajasthan and- ry few places in
Gujarat though historically, it"-was distributed
throughout Western India spanning 11 states as
well as parts of Pakistan. 3

According to the givenpassage, where is the
population of the Great Indian Bustard mostly
located now ?

26.

(1) Pakistan
(2) Entire Western India spanning 11 states
(3) Gujarat

w4 Rajasthan

Which of the following options is(false/about
the Great Indian Bustard-according to the

given passage ?

A female
W time.

Males play norole in the incubation and

27.

lays mliltipie eggs at a single

According © the given Passags what is the

use of PouCh

ey 1
2) To help in di’gfistion of food

28.

To give nesting care to the female’s g

To storé water=

®3)
\M\ To produce—afﬁilaﬁﬂ

gca]l

What does the term “opportunist eaters”
mentioned in the passage imply ?

(1)

29.

widespread agricultural expansion
gives them enough to eat.

" They eat plants, insects, rodents and
reptiles as per food availability.

Their poaching results in some people

(3)
eating them. =

They eat thiéwn eggs if there is an
opportunity? to do so.

4)

What is the meaning-of the word “resonant’
- g s F e —_—
used in the passage=

(1)

30.
a prolongedﬁ:é:h pitched cry of pain ot
grief

deep, Clear and continuing sounds
especially by synchronous vibration

sounding a metallic gong

soft murmuring cooing sound

31. Fill in the blanks iir the following sentenc®

with the most appropriate pair of articles.

A in2 -

‘l‘hi: : __heirsto . thron®
young prince has certain obligatory duties

@), oncanils ) T

@ 1
care of the young one.
(3) Theycanbe casily distinguished by their
black crowns. ~7 .
(4) Mating calls made by males can be
heard upto a distance of 500 metres. v~
VISHA /G
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an, the
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oose the correct option to change the given Choose the most appropriate option from the

following to translate the given sentence from

37.
3

gentence into Indirect Speech.

The policeman said to the teenaged boy,
»Where are you going at this time ?”

The policeman enquired of the teenaged
boy where he was going at that time.

The policeman commanded the

Hindi to English.
aaﬁ&;ﬁf@:ﬁﬁﬂw iR 3% WS H A T

il

M) He fell-down the stairs and injured his

back.

2
@ teenaged boy where he was headed to (2) He tripped on the steps and damaged
at that time.-, his back.
\/(37/ The policeman-asked the teenaged boy (3) He fell down the ladder and injured his
whether he knew where he was going back.
at that time. (4) He slipped down the stairs and caused

The policeman ordered the teenaged
boy to think where he was going at this
o

Hme.

C)

What is the antonym ‘of the word ‘defer’ ?

38.

injury to his back.

Choose the most appropriate option from the
following to explain the underlined idiom in

the given sentence.

33. v . .
1) surren derr @)y hasten " He has cllgiged horses in midstream by
_ h ’ leaving the corporate sector job for his own
(3) prolong <% = (4) praise startup. =
Ll s 1) to reach a crisis
3. Identify the adjective In the following 22; to be ae;érmmed to do something
sentence by choosing the most appropriate =
option : oF ' : (3) to work hard
Just look at that iﬁn;j kitten ! Mo Chazf plans.
(1) Kkitten ";’”\Q)/ funny 39. Choose themost appropriate option from the
= | following to translate the given sentence from
(3) look (4) that Hindi :
i to English. _
%. Word ‘Indelible’ is a one word substitution fe $veR 3 =ET < A HrETe T |
for which of the following descriptions ? (1) Perhaps God wills for you to be

Y a statement accepted as true without

successful. ~
May God bless you with success.

proof. )
(2) difficult to read.. " A3)" I God is willing then you will succeed.
(3) not fit to be-eaten. (4) If Goi_zl wﬂls, you will succeed.
(4) mark that cannot be removed. 40. Fill in the blanks in the following sentence
g y with the most appropriate pair of
6. Which of the following terms refers to a place prepositions.
where historical .documents or records are [ arrived at the theatre good time
kept or are stored as data in a computer to get a comfortable seat and the comedy
System ? L show started-= time. ~
\M Portfolio -  (2) Facsimile (1) on, on \é_f at, at
@)  Archive (4) Hangar (3) for, on (4) in,on
G P.T.0.
‘f‘m.

R R Y Y LA XL TR A T




41.  Fill in the blanks i

with the most

prepositions.

;['heﬂhelicogter flew . the memorial
or tloral tribute as:the armymen prepared to

{1

the following sentence
appropriate pair of

put a sheet __ - - .
martyr, R % ROl the body of the
(1)  above, over (2) on, over

\/63’7 over, above;?;f': (4) beneath, above

42. From the given options, identify the plural
form of the noun which is incorrect :

(1) Mouse - Mouses -~

(2) Alumnus - Alumni

(3) Mother-in-law - Mothers-in-law -
\ 44 Formula“ - Formulae

43.

Samaritan

cancel
adjoining

Give a one-word substitution for someone
U3y~ Novice s
(1) giveup

who is helpful and ready to help the needy.
(1) Ascetic —= (2) Volunteer
W
44. Which of the follc%)@g is synonymous with
the word ’re]inqugﬁ?
B hostile -

Fill in the blank in ;e;followmg sentence with
the most appropriate option (tense form) :

The guard went to oversee what the
ardeners in the area so that he

codld submit the work report to the
supervisor. (do)
(1) did 2

,\//(})/ were doing 4)

Choose the most appropriate option from the
following to translate the given sentence from

Hindi to English.
g T I&E W G 4 Iud e |
(1)  She happily accepted my offer.

zi\_/&f She grabbed my offer.
(3) She jumped with delight at my offer.

¥

45.

does
were done

46.

(4) She dived with delight at my offer.

VISHA/G 6

the most approprigte option from the
nvert the given sentence from
Passive Voice.

47. Choose
following to €O
Active Voice to

Had she practised hard, sl‘ie would have wq,

the trophy- “:

(1) The trophy would have been won by
her if she practiséd,jjard.

(2) The trophy will have been won by her
if she worked hard.

The trophy will have been won by her
had she practised;h__a’_rd.

The trophy would have been won by
her had she practised hard.

(3)

Which of the following options best describes

48.
the term “Plagiarism” ?
(1)~ events presented in order of occurrence.
~(2y" literary theft or passing off an author’s
~ original work as one’s own.
(3) a style meant to display one’s
knowledge. B 3
(4) a matter written Igy;hand
49. Which of the fOHOWlI:‘lg terms means

“occurring/awarded after the death

originator/recipient” 7=~
(1) Fugitive (2

~(3)” Amateur 4)

Put the verbs in brackets into Simple Past and
Past Continuous Tense. (Use both the

Tenses.)

She (cut) her thumb while is'he (peel) potatoes.

(1)  She will cut her th mb while she peels
potatoes. s

\A2)_ She cut her thuiﬁp while she was
peeling potatoes. “.

of the

Veteran

Posthumous

50.

(3)  She cutted her thumb while she peeled
potatoes. £ A

(4)  Shehad cut her thumb while she peeled
potatoes.
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51. .
gl FAM H a1 S g frm e P WA E?
ST (1) 4.
() eI : (2) it
@) TR (3) SIS
@ T ] A
The instrument used for detecting electric Paul Lynch who recstVéd the 2023 Booker
current == Prize, is from which country ?
(1) Altimeter (1) UK
() Fatlhometex (2) Australia
(3) ;Sal\ a;tox;etu () Ireland
se Tester
@ (4) USA
effen § ¥ FRE 30 1 WA 9RA 9§ T . o
" T & 55. ‘wafu| shifa’ g g ¥
1) =R 7 - (1) wew
2 AR s 2y ATET 3R 1Y o
() o~ £ (@) wggE e
g~ A 9 (4) T
The boundary of Wh1ch of the followmg ‘Golden Revolution’ 1s Igléted to
countries does not touch India ? 1 il
0 My ok (1) Jute = =
' 4 (2) Horticultur H
) Bangladesh g (2) | ortic e and oney
) Nepal e (B3 (3) Precious Minerals
(4) Iran (4) ;PUlSGS

5. A7, T g FreAfatad § 9 1 W 56. ‘IS e frgfew” T STEE % wEw

T off ? HH T ?
(1) et =iffest (1) i e
W ez des Aied S A B ) SE. "fdamr
8) feua zferra @W{aﬁtﬁ CAGRE| B TESH. e
W wmmEmEEE (4) W snfee
Whlch of the followmg was discovered by Who is the author of the novel “Pride and
GN. Ramchandran ? _‘:l * Prejudice” ? L
(1) Golgie bodies (1)  George Eliot
@) Fluid mosaic model of cell membrane (2) ].D. Salinger
() Trlple helical structure of collagen (3) H.G. Wells
) Plasma membrane (4) Jane Austen

7 P.T.0.
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57,

IENEREISIRIG

ched from

4)
1 was laun
4 Under

W}‘llich campaigt
17th September to ond October 202
Swachh Bharat Mission ?

Atmanirbhar Bharat Abhiyan

@
Annie Besant Cafhpalgn
Swachhta Hi Seva‘

@) Mission Swasﬂléﬁbiérat

58.

the Indian National

The pact signed betwgen
Congress and All India Muslim League in
1916 is called as Y . B S

Kanpur Pact |

(1)
(2

Lahore Pact

Poona Pact

(3
(4)

Lucknow Pact

vISHA/ G

60.

) LucknoW
) pelhi
) Mumbai

ofr FAE F T A

mg‘@'éﬂég
gl

The First Preaﬁfé:nt of the All India Trade
Union Congress-Was LTy

1) Lala Lajpat Rai
2 C Rajagopalachari

61, frefafEd Wuﬁﬁﬁ@ﬁ?mnﬂs{éﬁ%ﬁ
e e s A T
) (% ]
(3)
Which one of E};e-:%OHowing Indian? state 40

not share its border with hutal!

(1)  Arunachal Pradesh
(2) West Bengal

(3) Sikkim

(4) Meghalaya




62

63.

b4.

ﬁﬂﬁv‘f@ﬁﬁﬁwﬁaﬁ?—@aﬁ@wﬁw
(aﬂsﬁmwﬁﬁ)@%?
1 T
(2) W
(3) i
RIS

o which of the fc')llowing religions in India

T :
«Tower of Silence” related to ?

is the
(1) Jews

2) Zoroastrians™
) Muslims

4) Christians

(4) O :

Which among thefollowing states of India is

not a part of the Seven Sisters ?

(1) Assam £
2) West Benga;;
(3) Tripura 7 ol
(4) Meghalaya

e o e o (e R

W%mﬁwﬁf@aﬁﬁﬁ#ﬁmﬁ%?
(1) =g ‘
Q) S

() R

(\thich among thé— fé}iowing is responsible for
etermining the chemical properties of an
element ? - s '

(1) Neutrons

5

3

4

(2) Nucleous
( ) Electrons

VlSHA/G

-y

65. =rEam-1he gafud fohan = an?
When was Chandrayaan—l launched ?
%58 20087 ,‘Af: (2) 2009
() 2005 - (4) 2007

66. WWWWWW?
wpry” oo
(2) eI
(3) qErRre I
(4) TAHREI

Who Wéﬁgs—*{*‘”c;he founder of Chalukya

(1) Vishjijﬁ;éardhan

) Kirtivarman-I

]
\1"

(3) Pulal:(es}jun I

(4) Pulakeshin I

67. TG ST ¥ g A sy T
o |
T et
(2) '

(4)

Buland Darw aza was built by :

(1) Akbar

(2) Auraﬁgzeb
3) | Humayun
(4) Babar

P.T.O.



g

68. T Tt fretferhiam # % R frct & 71, dEEEE A AT g
A T el "
(2) = F iR (W 9w F=9) .
G) FwFHEE 2y e (T
(4) TR&wE
In which of the f'olloWiligiidoes Mahi River ®) o /
fall into ? (@) d (F)

(1) Gulf of Khambat ¢
(2) Rann of K’utch

The metal »fé_rg};ent in haemoglobin i

(8) Gulf of Kutch -
(4) Gulf of Munnar ‘ .
(1) Calcium
69. T QfFFreTe Wk SIS § el W HEAf |-
M2 \ .(2) Iron
(1) TREE (3) Aluminium
v@)/ IR AT i; ; (4). Copper -
() TGS ~ f:
(4) = |
72. ‘2024 IRG SAftgag'’ F fFE 39 B Wi

Where will the First Segﬁé@nduetor park in T
Uttar Pradesh be established ? CF T g%ﬁr:i" % i S o

(1) Gorakhpur e

Y

(2) Greater Noida 2 = (1)
3) Lucknow

4) Varanasi - , (2)

70. FrdiTsT 1 AMYSR' T, 71 & 4§ fohg < @) wig

Fraft=a fwar g2

(1) T | A TRERT

@) e The Indian Men’s Hockey team won the

it bronze medal in the “2024 Paris Olympics’

(4) aﬁ'@m by defeating ‘\to afy?hich team ?

Which country has recently implemented a 1 \ |

‘Right to Disconnect’ Law.?’ @ Germany_;

(1) Nepal @) Spain “

(2) New-Zealand ' - o0
(3) India | ()  France. : -

4) Australi
(4) Australia @  Pakistan
10
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Wmﬁﬁﬂ‘@ﬁﬁ'ﬂﬁfﬂﬁ%” 4 76. %ﬁ%soooooﬁmn%mﬁaﬁaa
&DOO’O%( e“’wmmmﬁammwm;ﬁ

@ o® mﬁmlo%mﬁmaﬁmmm
o T 3 @0"’\“,0 YR ¥ ) dF ad d Fa e 97 e
o fFe » 05 [ FHH AT ? —
- ; o) b?,,/’0°
4) NSNS E e ”’j}l"é b Shivam took a loan-of ¥ 8,00,000 on simple
walker Cup is associa /éed Wllh which interest at 11% per annum, and 1mmed1ate1y
0

N A L lent the borrowed sum on compound interest

sports ? Q0% It 2

99N~ © ompﬂ X at 10% per annum. How much will he earn
(1) Golf o~ = el o in 3 years on the whoIe ?

baddi WR L o) S
(2) Kabaddi y % g3 D > % 800 ‘@ %840
(3) Cricket ¢ o° \2\ 19 ¢ 26\ : iy .
(4) Football % (3) 80 (4) X700
AVN

7. W@ﬁmwms“ﬁ'qﬁm* 77. SR 1 6 cm @R 16 cm S 7 o1 &

(1) HIFTH o2 Rz 2 Y ﬂ_,,hx— ﬂ Th B‘W S ot e &, 6 om Bt & e
2 SR ’r - S T T 3 em B At 5w T @ w9 e
6 TS ﬂ‘gcx ﬂz'“ el 3cmﬁma@mﬁﬁ@faﬁ'ﬁ7
7 T \
A A &4
(0) T o1 2% A6 7/ A solid metallic cylmder with base radius
—\’\'5 2/% 6 cm and height 16-cm is melted and recast
Which classical dancefornllsfamousmTanul as one sphere of radius 6 cm and some
Nadu ? o e ' spheres of radius 3:cm. How many spheres
(1) Kathakali - Pl %S . of radius 3 cm will- bE there ?
(2) Bharatnatyam \—QP)/ 8 | E 9
(3) Kuchipudi ‘@B) 6 .
(4) Mohiniattam ‘
75. el @S (ADITI scheme) fipe & T 78. g g’qﬁ qﬂg gﬁ’“ F@l’;ﬁ ?ﬁfgﬁ“ﬂw
22 : AR NERELR HAd § 2
(1) e & , How many 4-digit numbers can be formed
2 . which are not divisible by 5 if Repetition is
&g allowed ?
' i, \p o
- (3) vaweam - o‘*‘”“‘ P (1) 3584 @) 8100 oo
] e e B (3) 4,032 \/(4)/ 7,200
"ADITI Scheme’ is assoc1ated with which
sector ? 79) 50 mys = e = kﬁi/h ¥ wfafia w
1 i tor - - e
(1) Education Sec or Convert the speed ot 50 m/s to km/h.
(2) Defence Sector -
(3) Health Sector s “@ \(2’)/ 180
(4)  Finance Sector (3) 150 5 (4) 164
11

P.T.O.
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AR 9 5, 9, 13, .. % ft 7 4
ST 860 SMT? ., o (@nanln-dd

How terms of the arithmetic

progression 5, 9,13) .... should be taken go

many

84. 1 % 52 7 Bt TEE H H T T e
wvﬁfﬁmammmwmaﬁm
Pme? (7 |

A card i8 drawn from a pack of 52 Playing

cards. What is the probability that it is an
that their sum is 860 7 8o = I (B+(n-nY)) acaror a Heart 7
‘ @ boxd = (54 Un-—)

1 : Yno w 8 ¢o 24 \ . , 9
ST g B MV TR
(B) 20 gexge! (@) 28 1720 suwhy, e %\1

YX2K)ax W2 X2 Und gh—12-20 20 17 7 z .E

5 ® 5 W 5
81. g femelt Wem @1.43%, 516 ¥, @ 3ot We .

69%AM: UM 5 S16Xle, 61)

&L U
If 43% of a number is 516, then 69% of the

Jot

85, A HEA F LCM 7k HCF %1 1271 %) f
TTh LCM @41 HCF &1 411 182 % a1 o7 4

number will be : ) 2xb9 74 Teh H& 42 %, o Hem E
0
1) 798 2) 812 B8 LCM of two numbers is 12 times their HCF.
If sum of their LCM and HCF is 182 and one
(3) 542 Y 828 of the numbers is 42, then the other number
@ is L f‘%yw X\ 8 Lem z v
" -, HE = » -1y
< 48 =8 ML (2) 42
7}4” T HCH FHEg YL, SR 1 € feren ufm 1) — 2 @ m“Jr\{;jl
92 292 m T 9 T FaO 110 momn 31 e 8 @) 62 =3 s 56
33 '

?SEﬁfaﬁTﬁaﬁiﬁﬁEmmﬁzmmam
y

/86, @Wﬁgﬁaaﬁwwﬁfﬁmwm

an.{ I h(.? Z 2 C K ~ Y ~
55 \/f‘ G VT B e 10 con ®1° AfE 15 e A9 F¥ 4=7eT F <
%Q/A field is in th(?’féﬁg;e of a thombus having ﬁ{f% cm%, A 10 cm 119 gmaﬁ?waﬁaaﬁr
U

perimeter 292 m and its one diagonal is

_ ; s
g% ‘ 110 m long. Find the cost of growing grass @ RIGECTY ’ :
10 o inthe field at the rate of % 8 per sqm. . A parallelogram has adjacent sides of length
S\\ 2% ﬁ' $>° 15 cm and 10 cm. If the distance between
—@ (D) 5542280 M 42,240 _ “:1 ) SSSides of length 15 cm is 6 cm, then find the
. (IR i ides of length 10 cm.
10 (3) T 42,400 4) T 423207 distance between the sides o Oength
s W)y 3z B Nex (1) 95em 2) 10cm
.%3 " | \,(Z{ 8 cm - (4) 9cm
83. A ATME A G5 o A | | |
T};B:gmp”* & @BINCH o | g7, Teh GMGR-A 4 % 6 1 X W el @llg 31N
AT ST T 6HAH WY AN A THH v Hieww
If the fatio between the ages of A’and B is FNE? :
2 : 3 and that between A and C is & - 9, then A shopKeeper bought bananas. at 6 for T4
the ratio between the ages of B and C ig . and sold them at4 for ¥ 6. The gain percentage
i : is \a
8:9 2) 4:9 C\g d . -7
" o - (1) 150% (2) 120% 5
(3) 1:3 \M 4:3 ] [t C (3) 100% \4/(4'{ 125% /Vq
1 .
VISHA/ G " e (: 9-M g };}a ’%%x)u’é’"
2416 2s = j n s g
s S TF ¢



P’ 6! 20
gr ANy IX2A] =
| QUMOUR = 3 Sl i STerT-7er! foheid Al | 92, X T ST I FRE g doe 5
2 e e T A1 82 £x YT TETeeR T H WA ¥ | x SR, 2 7o
- gepTd AT T TS et
[n how many different ways can the letters el 3x i . Wa;‘{’ AL L
| of the word RUMOUR be arranged ? Bsthet (T SeRTS ,) 6 L
| (1) 180 720 The surface area and volume of a cube of side
1 3 0 v unit are numerically.equal. Find the'surface
@ 30 -3 area of a cuboid (in sq. unit) whose sides are
. o " it e 3% unit.
69\ =7 3 39 &1 35 e ¥ 20 km &t 0 T @l | x unit, 2x unit and 3x une W3 - o |
VA, S 25 firge s o 9f | 1) 780 < ~-uzf792 ‘
Tkl ?W"TUlEETSﬁ:IEﬁ%Okm‘Eﬁ@ ”M/V‘(B) 680 “w 720 £ 1200
aaz#n W’c}ﬁmwﬁﬁgﬂanﬁ(km/slu ) BZ T (2 206H)0B
= 2¢ ' ‘3—0—”7 %

T e 7T o g * (93) A7 B s T1,20,000 741 1,45,000 e
,f,(’,yRa]ancoxﬁdadlstanceonOkmbybusm W@WW%W | =X 78 % 9< B gf
- Zo% 3 35 minutes. After deboarding the bus, he took 3 7 15,000 Forspret for | & @it TER 9T C, = =
#77% rest for 25 minutes and then covered another ’

4 30 kmbyataxiinl hr 5 minutes. What is his Z1,80,000 F few & HT?I 3Tk 1Y SeTEl A
p average speed (in km/hr) for the whole ¥ wfrg TEER BH % hRU, ST § ST
/ ~ =
1o journey ? 2o®LS  ficiart 5 st 8 5 E T4000 +
;,\ @ 2 (2) .28 172 o % o1 § C F 213,500 @ e, @ R
&l @6 30 @ 24 aéﬁAm‘rmm@—ﬁﬁw7
90. ﬁd?,aﬁmﬁﬁwmeﬂmmvﬂﬂg%w Ife A and B startedé avbusmess by investing
e Zie W W%ﬂ?’f forar ST, A % 1,20,000 and ¥ 1,45,000 respectively. After
_Gm:ﬁ'—— . 4 months B Wlthdl;@_fi\f? 15,000. After 2 more
T g 18 H 9IS T %rl e J1d | months C joined them with the investment
The sum of digits of a 2—d1gﬁ;‘11umber is 8. If of ¥ 1,80,000. Being an active partner A
dlglts of the number are-interchanged, the received X 4,000 per month in addition to his
given number gets increased. by 18. Find the share in the profit. At the end of the year C
number. z 5 | o »+ sz 19+ received ¥ 13,500 as his share in the profit,
1 17 @ 53 n+y= & then how much profit did A receive in the
- \p ear ?
6) 26 a5 At
ol = 4T % 66,000 2) < 69,800
91. \
ﬁ»‘mﬁw ABC 1 ystieil AB a9 AC i aam@iz (3) T 60,000 (4) T 61,500
T |7 B e C R A ATl i 3 AT
Yfq=e 5 oF = o3 g 3 15
T /BPC 71 ¢ | T HIET 15% a‘rs*tﬁ&mﬁaﬁnfwmma;{,
Sides AB and AC of a trlanglc ABC are
Produced. If angle bisectors of exterior angles If mean of the obsetvahons 16,11, 13,19, 25,
at B and C intersect ata point P and (k—2) and (2k +8) is 15, then find the median
<BAC=110°, then find £BPC. of these obselvahgng ‘ i

M 550 (2).. 70° (1) 18 @ 19 2

®) 450 (4).+35° 3) 13 ) F0+ 3K
Al ¢, 1,
° i 3'“’}@ \erd pro. ¢

)
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95. fargaii (@c,d)%aﬁaﬁiﬁ%=
R

Distance between points (a, b) and (c, d) is

given by :

1) Ja+c)? ~Ab+d)?

@ b - a)ild - )

@) Ja-b)2F (e - d)?

\9*)/ \,/(a —)? + (b-d)?

96. 44T AU H U HAR I F 6: 5 F STUM |
I 794 6 TiIet g8 el T 1 9 g § gy
R 9T F 5: 4 7 SA9E UM & fag fago §

fea=1 9FT (S f?)fq?ﬂ:ﬂ 2T ?

A 44 litre mixturé contains milk and water
in the ratio 6 : 5.-If six litre milk is added to it,
then how much water (in litre) needs to be
added to the resulting mixture to get the
milk-water ratio 5+ 4 ?

2446 Jo
A 4 ~ @ 3 2
' Jze =z 7

@) 5 4 6

97. 27970l 941 4 Afeensii H 4 9 HeEi #1 wF
FHA I AT E FHA 59 9 59
A committee of 3 members is to be formed

out of 2 men and 4 women. What is the
probability that the committee has atleast one
man 7 g

G F T 14,900 T UM, 6% afdes 1 T 9
YR =16 ) e 611 fohad a9 =g 39 $a
% 17,582 1 U1 91 2reft 2

Suresh invested a sum of T 14,900 on simple
interest at the rate of 6% per annum. After

how many years will he get a total of
17,5827

N

@) 4

98.

(2) 2

1
3=
@ 33
18 2 1 AR W 5 S W 22 T AR
ST 9T S G TE F Ao T g A, SHA w
T4 30° 1.0 T E | G e 4 22, 98
S A (e H) I H |

A vertical post 18 feet high is broken at a
certain height and its upper part, not
completely separated, meets the ground atan
angle of 307 Find the height (in feet) from
the ground at-which the post is broken.

1 5 @ 12

3z 6 4 9

99l

100) 7 5o ToRei-=m 1 25 e § =X 799 5,
" Al 5 afeemd s€ w1 i 20 R F #= T=a
€1 =R gedl 991 6 Hieensi 7 e | e
a1 6 fe a1, 2 @R geu 991 2 iR ghEn
FM H T M1 TR wH e o F g am?
Three men can do a work in 25 days, whereas
5 women can do the same work in 20 days.
Four men and 6 women started the work
together. After 6 days, 2 more men and

2 more women joined them. In how many
days will the whole work be completed ?

1

(1 8 @#I 8
) 1

7 @ 73
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